DE2.3 Electronics 2 for Design Engineers

Tutorial Sheet 3 — Laplace Transform and Transfer Function
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I will NOT expect you to remember formulae except the basic definition of Laplace transform.
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3. This year, I did not really cover the topic of inverse Laplace transform. So this question will NOT be

examinable.
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5. a)

d?y dy _cdf
F-i_ 11;4‘ 24y(t) =5 ot + 3f(t)

Take Laplace transform on both sides:
(s? + 11s + 24)Y(s) = (55 + 3)F(s)

Y(s) _ 55+3

Transfer function H(s) = o) = Sriisra

b)
ady d?%y dy _ 24 af
F+6?—11§+6y(t) = 3dt2 +7dt+5f(t)

(s3+652—11s+6)Y(s) = (3s2+ 7s + 5)F(s)

Y(s) _ 3s%47s+5
F(s)  6s2-11s+6

H(s) =
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